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ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENT 

SAMPLE PAPER 
I  Answer any four of the following questions from 1 to 5. Each carries 1 score. 
 
1.  The written document of the Partnership agreement 

a) Table A b) Partnership Deed  c) Memorandum of Association 
d)  Prospectus 

 
]¦mfn¯ DS¼Snbnse FgpXs¸« {]amWw : 

a) tS_nÄ A b) ]mÀ«WÀjn¸v UoUv  c) sat½mdm−w Hm^v  

Atkmkntbj³ d)  t{]mkvs]Iväkv 
 

2. The ratio in which the old partners agree to sacrifice their share of profit is called :- 
a) Gaining Ratio b) Sacrificing ratio c) New Ratio d) Old ratio 

 
]gb ]mÀ«WÀamÀ AhêsS em`hnlnXw XymKw sN¿p¶ Aë]mXw GXv ? 

a) Gaining Ratio b) Sacrificing ratio c) New Ratio d) Old ratio 
 
3. X,Y and Z are partners in a firm sharing profit and losses in the ratio of 7:5:4. Z retired 
from the business. Gaining ratio of X & Y will be: 
X,Y, Z F¶nhÀ ]¦mfn¯ _nkn\ÊpImcmWv. Z _nkn\ÊnÂ \nìw hncan¨p. X,Y 
F¶nhêsS t\« Aë]mXw F´mWv ? 
 

4. Mention the name of account where profit or loss on realisation is transferred ? 
dnbssetkj³ A¡u−nep−mhp¶ em`hpw \jvShpw GXv A¡u−nte¡mWv amäp¶Xv  
 

5. Unrecorded Asset A/c    Dr. 
 To Realisation A/c 
This Journal entry is passed for : 
Cu tPÀWÂ tcJs¸Sp¯p¶Xv : 

a) Increase in Asset  b) Decrease in Asset 
c)  No Change in Asset  d) None of these. 

 
II  Answer all Questions from 6 to  7. Each carries 2 scores. 
 
6. List out any four items to be credited to a partner current account when capitals are fixed. 
   Øncaqe[\ A¡u−v coXnbnÂ Hê ]¦mfnbpsS Idâv A¡u−nÂ {IUnäv sNt¿−     
    \mev C\§Ä FgpXpI.  

 
7. X,Y and Z are equal partners. Z retires from the firm. On the date of his retirement, the 
balance sheet of the firm showed a general reserve of Rs. 30,000/-. Give Journal entry. 
 

X,Y,Z F¶nhÀ Xpey ]¦mfnIfmbpÅ Øm]\¯nÂ \nìw Z hncançì. At¶ Znhkw 

_me³kv joänÂ , 30,000/- cq] P\dÂ dnkÀhv Bbn ImWnçì. tPÀWÂ F³{Sn 
FgpXpI. 

 
III  Answer any two of the following questions from 8 to 10. Each carries 3 scores. 
8. Arun and Manu are partners in a firm. In the absence of written rules, how the following 
items will be treated in account. 
Aêéw aëhpw Hê Øm]\¯nse ]¦mfnamcmWv. FgpXn X¿mdm¡nb dqfpIfpsS 
A`mh¯nÂ Xmsg ]dbp¶ C\§sf A¡u−nÂ F§s\ tcJs¸Sp¯pw ? 



a) Profit or Loss of the firm  b) Interest on Capital 
c)  Salary or commission payable. 

 
9.. P & Q are partners sharing profits and losses in the ratio 2:3. They admit R for a sixth share 
for which he brings in Rs. 20,000/- for capital and Rs. 10,000/- for goodwill. P &Q withdraw 
half the amount of goodwill immediately in cash. Give Journal entries. 
Pbpw, Qbpw 2:3 Aë]mX¯nÂ em`hpw \jvShpw hoXnç¶ ]¦mfnIfmWv. AhÀ R-s\ 1/6 
Aë]mX¯nÂ _nkn\Ênte¡v {]thin¸nçì. AbmÄ 20,000 cq] aqe[\ambpw 10,000 
cq] KpUvhnÂ Bbpw sIm−phêì. Pbpw, Qbpw KpUvhnÂ XpIbpsS ]æXn DSt\ Xs¶ 
]Wambn ]n³hençì. CXnsâ tPÀWÂ F³{Sn FgpXpI. 

 
10. Pass journal entries on dissolution of a firm in connection with realisation of asset in the 
following cases. 
Øm]\w AS¨p ]q«pt¼mÄ BØnIÄ hnägn¡epambn _Ôs¸«v \ÂInbncnç¶ 
kmlNcy§fnÂ tPWÂ tcJs¸Sp¯Â \S¯pI. 
 

a) Machinery worth Rs. 10,000/- taken over by Mr. Sam, one of the partner at the book 
value. 

a) kmw F¶ ]¦mfn 10,000/- cq]bpsS sajn\dn _p¡v hnebv¡v GsäSpçì. 
 

b) Unrecorded investment sold out for Rs. 6000/- 
b)  IW¡nÂ DÄs¸Sm¯ C³shÌvsaâv Bdmbncw cq]bv¡v hnäp. 

 

IV.  Answer all the questions from 11 to 12. Each carries 4 score. 
 
11. Explain the different methods of valuation of Goodwill. (Any four) 

 KpUvhnÂ I−p]nSnç¶XnëÅ 4 hnhn[ coXnIÄ hniZoIcnçI ? 

 
12.  State any 4 elements appear on the credit side of a deceased partner’s capital account. 

acn¨pt]mb Hê ]¦mfn¯ _nkn\ÊpImcsâ aqe[\ A¡u−nsâ {IUnäv sskUnÂ    
hê¶ GsX¦nepw 4 C\§Ä FgpXpI ? 

 

V. Answer all questions from 13 to 14. Each carries 5 score. 
 
13. Distinguish between Fixed and Fluctuating capital methods. 

Fixed capital Dw Fluctuating capital Dw X½nepÅ hyXymk§Ä FgpXpI. 
 

14. What are the accounting procedures to be followed at the time of settlement of a partner.  
_nkn\ÊnÂ \nìw Hê ]¦mfn hncançt¼mÄ kzoIcnt¡− A¡u−n§v \S]Sn 

{Ia§Ä FgpXpI. 
 

VI  Answer any one question from 15 to 16. Each carries 8 score.  
 
15. Anil and Sunil are partners in a firm sharing profits and losses equally. Their balance sheet 
as on 31 March 2016 was as follows.  
A\nepw kp\nepw Xpey]¦mfnIfmWv. AhêsS _me³kv joäv Xmsg sImSp¯ncnçì. 

Balance Sheet as on 31.03.2016 
Liabilities Amount Assets Amount 
Bills Payable 
Creditors 
Capital 
        Anil 
        Sunil 
 
 

12,000 
1,20,000 

 
1,20,000 

80,000 
3,32,000 

 

Cash in Hand 
Debtors 
Stock 
Plant & Machinery  

12,000 
1,60,000 

80,000 
80,000 

 
3,32,000 

 



 
Varun is admitted as a new partner on the following terms. 
Xmsg ]dbp¶ hyhØIÄ¡v hnt[bambn hêWns\ ]pXnb ]¦mfnbmbn {]thin¸n¨p. 

a) Varun will bring Rs. 1,60,000 as his Capital 
hê¬ aqe[\ambn 1,60,000 cq] sIm−p hì. 

b) Plant & Machinery is revalued at Rs. 1,00,000/- 
¹mâv & sajn\dnbpsS ]pXnb hne 1,00,000 cq] Bbn. 

c) Stock,Debtors and creditors were valued 10% less. 
tÌm¡v, sU_vtägvkv, {IUntägvkv F¶nhbpsS aqey¯nÂ 10%  
ædhp−v. 

 
Prepare necessary accounts and Balance Sheet. 
hnh[ A¡u−pIfpw _me³kv joäpw X¿mdmçI. 

 

16. A, B & C are partners sharing profits and losses in the ratio of 3:2:1. On 31/12/2020, they 
decided to dissolve the partnership firm. On this date their Balance Sheet was as follows: 

A, B, C F¶nhÀ 3:2:1F¶ Aë]mX¯nÂ em`hpw \jvShpw hoXnç¶ 

]¦mfnIfmWv. 2020 Unkw_À 31\v ]¦mfn¯ Øm]\w ]ncn¨p hnSm³ AhÀ Xoêam\n¨p. 
B Znhks¯ AhêsS _me³kv joäv Xmsg sImSp¯ncnçì. 

 
Balance Sheet as on 31.12.2020 

Liabilities Amount Assets Amount 
Sundry Creditors 
 
A’s Loan 
 
Repairs & Renewal Reserve 
 
Capital  
 

A- 1,00,000 
B- 1,50,000 
C-    20,000 

 
 

1,50,000 
 

1,30,000 
 

12,000 
 
 
 
 
 
 

2,70,000 
5,62,000 

 

Plant & Machinery 
 
Stock 
 
Sundry Debtors -2,00,000 
Less provision       10,000 
 
Prepaid Insurance 
 
Investment 
 
Cash  

1,60,000 
 

1,50,000 
 
 

1,90,000 
 

4,000 
 

30,000 
 

28,000 
5,62,000 

 The asset realised as under 
Plant & Machinery  - 1,00,000 
Stock    - 1,20,000 
Debtors  - 1,60,000 
The investments were taken over by ‘A’ at a value of Rs. 20,000/-. He also agreed to pay his 
loan. Expenses of Realization amounted to Rs. 8,000/- 
Prepare  1.  Realisation A/c 
  2.  Partners Capital A/c 
  3. Cash A/c 
BkvXnIÄ Xmsg ]dbp¶ coXnbnÂ ]ncnªp In«n 

¹mâv & sajnWdn -: 1,00,000 
tÌm¡v  : 1,20,000 
sU_vtägvkv  : 1,60,000 

C³shÌvsaâvkv 20,000 cq]bv¡v ‘A’  GsäSp¯p. AbmfpsS tem¬ AS¨p 

XoÀ¡msa¶v AbmÄ k½Xn¨p. dnbssetkjsâ NnehpIÄ 8000 cq] Bbn. X¿mdmçI. 

1. dnbssetkj³ A¡u−v. 

2. ]¦mfnIfpsS Iym]näÂ A¡u−v. 

3. Iymjv A¡u−v. 
 



Part- B 
Analysis of Financial Statements 

         (Max Score: 40) 
 
 
I. Question No 1 to 5 (attend any 4) [Hì apXÂ A©p hscbpÅ Hì apXÂ A©p hscbpÅ Hì apXÂ A©p hscbpÅ Hì apXÂ A©p hscbpÅ tNmZy§fnÂ GsX¦nepw tNmZy§fnÂ GsX¦nepw tNmZy§fnÂ GsX¦nepw tNmZy§fnÂ GsX¦nepw 

aaaaqqqqssss¶¶¶¶®¯n®¯n®¯n®¯n\\\\v D¯cw FgpXpIv D¯cw FgpXpIv D¯cw FgpXpIv D¯cw FgpXpI] (Each carries one score ) 
 
1. The capital with which the company is registered is called __________ 
   Hê I¼\n cPnÌÀ sN¿mëÅ aqe[\w…………..  F¶dnbs¸Spì. 

 
2. Debenture holders are _____________ of a company. 
   Un_©À tlmÄtUgvkv Hê I¼\nbpsS ................................... BWv 

 
3. Debentures are shown in the Balance sheet under the head. 
 a) Other Long term liabilities  b) Current liabilities 
 c) Long term borrowings  d) None of these. 
  Un_³©dpIÄ I¼\n _me³kv joänsâ GXp slÍnÂ hêw ? 

a) ZoÀLIme _m[yXIÄ  b)   Idâv eb_nenän 

 c)  ZoÀLImehmbv]   d)  ChsbmìaÃ. 
 

4. Common size Analysis is an example of _____________ analysis. 
   tIma¬ sskkv A\menknkv F¶Xv G´n\v DZmlcWamWv? 

a)  XncivNo\w    b)  ew_w 

c)  s{S³Uv    d) Iw]mcnäohv tÌävsaâv 

 
5. Quick ratio is calculated by dividing liquid asset by. 
a)  Long term liabilities  b) current liablities 
c)  Total liabilities   d) Total assets 
Izn¡v tdtjym IW¡m¡m³ enIznUv Akäns\ F´p sIm−v lcn¡Ww ? 

a)  ZoÀLIme _m[yXIÄ  b)  Idâv eb_nenän 

c)  BsI _m[yX   d)  BsI BkvXnIÄ 

 
II. Question no. 6 to 9 (answer any three) (Bdv apXÂ H³]Xp hscbpÅ tNmZy§fnÂ (Bdv apXÂ H³]Xp hscbpÅ tNmZy§fnÂ (Bdv apXÂ H³]Xp hscbpÅ tNmZy§fnÂ (Bdv apXÂ H³]Xp hscbpÅ tNmZy§fnÂ 

\\\\nìw GsX¦nepw aqs¶®w FgpXpI.)nìw GsX¦nepw aqs¶®w FgpXpI.)nìw GsX¦nepw aqs¶®w FgpXpI.)nìw GsX¦nepw aqs¶®w FgpXpI.)    (Each carries two scores ) 
 
    

 
6. What do you mean by Mortgage Debentures ? 
   tamÀ«vtKbvPv Uns_³©À F¶mÂ F v́ ? 
 

.7. Ascertain operating ratio from the following. 
    Hm¸tdän§v tdtjym IméI 
 Net sales   - 6,00,000 
 Cost of goods sold - 3,00,000 
 Operating expense - 1,00,000 
 
8. Write any two items coming under Financial Activities ? 
     ̂ n\m³jyÂ BIvänhnäoknë IognÂ hê¶ c−v C\§fpsS t]cv ]dbpI. 

 
9. What is a Cash Flow Statement ? 
    Iymjv ^vtem tÌävsaâv F¶mÂ F v́ ? 
 
 



 
III. Question No. 10 & 11 (Answer all questions) (10 apXÂ 11 hsc tNmZy§fnÂ FÃm 10 apXÂ 11 hsc tNmZy§fnÂ FÃm 10 apXÂ 11 hsc tNmZy§fnÂ FÃm 10 apXÂ 11 hsc tNmZy§fnÂ FÃm 

tNmZy¯nëw D¯cw FgpXpI.)tNmZy¯nëw D¯cw FgpXpI.)tNmZy¯nëw D¯cw FgpXpI.)tNmZy¯nëw D¯cw FgpXpI.) (Each carries three scores ) 
    
 

10. Rupa Ltd purchased building worth Rs. 6,00,000/- for which equity shares of Rs. 10 each 
issued at a premium of Rs. 2/-. Give Journal Entries ? 
      cq] enanäUv 6,00,000 cq]bpsS _nÂUn§v hm§n. 10  cq]bpsS HmlcnIÄ 2 cq]v 
{]oanbw \nc¡nÂ sImSp¯psh¦nÂ tPÀWÂ F³{Sn FgpXpI? 
 

11. What do you mean by Redemption by conversion  
       dnUw]vj³ ss_ I¬thÀj³ F¶mÂ F v́ ? 
 

IV. Question  No. 12 to 14 (Answer all Questions)  )  )  )  (12 apXÂ 14 hscbpÅ tNmZy§fnÂ (12 apXÂ 14 hscbpÅ tNmZy§fnÂ (12 apXÂ 14 hscbpÅ tNmZy§fnÂ (12 apXÂ 14 hscbpÅ tNmZy§fnÂ 

FÃm tNmZy¯nëw D¯cw FgpXpI )FÃm tNmZy¯nëw D¯cw FgpXpI )FÃm tNmZy¯nëw D¯cw FgpXpI )FÃm tNmZy¯nëw D¯cw FgpXpI )    (Each carries four scores ) 
    

 
12. Show a table of different types of share capital using imaginary figures ? 
     hnhn[ Xc¯nepÅ sjbÀ Iym¸näepIfpsS Hê ]«nI km¦Â]nI kwJyIÄ  
      D]tbmKn¨v X¿mdmçI ? 
 

13. Explain any 4 importance of Financial Statements  ? 
     ^n\m³jyÂ tÌävsaânsâ \mep {]m[m\y§Ä hnhcnçI ? 

 
14.  Prepare a comparative Income Statement from the following information. 
Xmsg ]dbp¶ hnhc§fnÂ \n¶v Iw]mcnäohv C³Iw tÌävsaâv X¿mdmçI. 
 

Particulars 2013 2014 
 
Sales 
Cost of Goods Sold 
Indirect Expenses 
Income Tax 
 

 
6,00,000 
4,50,000 

10% of gross profit 
40% 

 
8,00,000 
4,80,000 

20% of gross profit 
40% 

 
Answer the following Question  
 
15. From the following P&L A/c of ABC Ltd for the year ended 30/06/2020. Calculate cash 
from operation. 
 
Particulars Amount Particulars  Amount 
Salaries 
Rent & Rates 
Depreciation 
Preliminary expenses 
Net Profit 
 

60,000 
25,000 
6,000 
5,000 

54,000 
------------ 
1,50,000 

======= 

Gross Profit 
Divident Received 

1,25,000 
25,000 

 
 
 

------------ 
1,50,000 

======= 
apIfnÂ sImSp¯ncnç¶ P&L A/cÂ \nìw Hm¸tdän§v Iymjv Is−¯pI. 

 
Answer any 1 from the following questions (5  scores) 
((((16 apXÂ 17 hscbpÅ tNmZy§fnÂ GsX¦nepw Hsc®¯n16 apXÂ 17 hscbpÅ tNmZy§fnÂ GsX¦nepw Hsc®¯n16 apXÂ 17 hscbpÅ tNmZy§fnÂ GsX¦nepw Hsc®¯n16 apXÂ 17 hscbpÅ tNmZy§fnÂ GsX¦nepw Hsc®¯n\\\\v D¯cw FgpXpI.v D¯cw FgpXpI.v D¯cw FgpXpI.v D¯cw FgpXpI.))))    

 



16. A company has an authorised capital of Rs. 3,50,000 divided into 35,000 equity shares of  
Rs. 10/- share. The company issued 20,000 shares to the public payable as Rs. 3/- on 
application, Rs. 3/- on allotment, Rs. 2/- on I Call and the balance on II  & Final call. Record 
the Journal entries.          (8 score ) 
Hê I¼\nbpsS HmXssdkvUv Iym]näÂ Rs. 3,50,000 BWv ( Rs. 10/- km[mcW HmlcnIÄ 

35,000)  20,000km[mcW HmlcnIÄ s]mXpP\¯n\mbv hnXcWw sNbvXp. 

   
Application   - 3/- 

  Allottment  - 3/- 
  I call   - 2 
  II Call   -  Balance 

 
CXn\v tPÀWÂ FgpXpI 

  
17. The following is the balance sheet of ABC Ltd as on 31st December 2020. 

Xmsg sImSp¯ncnç¶Xv ABC Ltd sâ _me³kv joämWv. 

Liabilities Amount Asset Amount 
 
Equity Share Capital 
Paid Share capital 
Reserve 
P&L A/c 
10% Debentures 
Sundry Creditors 
Bills Payable 
 

 
3,50,000 
3,50,000 
1,50,000 

50,000 
4,00,000 
1,75,000 

75,000 
 

------------ 
15,50,000 
======= 

 
Land & Building 
Plant & Machinery 
Furniture & Fittings 
Stock in Trade 
Sundry Debtors 
Bills Receivable 
Cash at Bank 
Cash in Hand 
 

 
2,50,000 
4,00,000 

75,000 
2,50,000 
1,25,000 
1,50,000 
2,00,000 
1,00,000 

------------- 
15,50,000 

======== 
Find out  1) Current Ratio 
   2) Quick Ratio 
   3) Debt-Equity Ratio 
   4) Proprietary Ratio 
I−p]nSnçI 

1) Idâv tdtjym 

2) I|¡v tdtjym 

3) sU_väv CIznän tdtjym 
4) ���������	 tdtjym 
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